
790 Adventure, white 2019 <2019><EU><F9603S2>
ACCESSORY PACK

51899

Pos Part Number Description Additional Text Quantity

0 90112040000 MIRROR L/S L-PART 1.00

0 90112041000 MIRROR R/S L-PART 1.00

0 0025060086 HH collar screw M6x8 TX30 2.00

0 63503090000 Skid plate bottom part cmpl. 1.00

0 63503090016 Lower Alu Skidplate Support 1.00

0 0025060106 HH collar screw M6x10 TX30 7.00

0 63503097010 Front spoiler left 1.00

0 69014017000 SPECIAL SCREW M6X18 ISA30 08 2.00

0 62142041000 DAMP. COMPONENT ABS MODUL 6.00

0 63503098010 Front spoiler right 1.00

0 83008000012 special screw M6x12x3 1.00

0 69014117000 Collar screw M6x22-8.8 ISA30 4.00

0 60006001021 Distance rupper airbox 03 2.00

0 61342041000 Collar bushing 6.5X9X18X8.5 6.00

0 63508008050 windshield support 1.00

0 63508008000 windshield EU 1.00

0 60708008070 rubber bush windshield fixatio 2.00



0 60708008071 Special screw M5x14 2.00

0 64112181000 Bracket for reflector 1.00

0 58412080400 Rear reflector red 1.00

0 69008021160 special screw M5x12 1.00

0 312305 DOCUMENTS BAG 2006 1.00

0 312313 KTM BALLPOINT PEN ORANGE 1.00

0 00063004202 PRINT LABEL 60X51 MM 1.00

0 00063099114 Pocket for operating manual 29 1.00

0 3210917 NOTEPAD 1.00

0 20180195INT KTM Bypack Folder Street 1.00

0 20180189INT Sticker accessory kit 1.00

0 00063004012 HEADLIGHT MASK BOX 1.00

1 3213918EN Own.manual 790 Adventure S 201 1.00

29 63529099000 On-board tool kit 1.00

31 60012060032 RING WRENCH 32MM 1.00

32 60012060000 GRIP FOR RING WRENCH 1.00

33 76029062000 HOOK WRENCH F. SHOCK ABSORBER 1.00

35 50329070000 T-WRENCH WS=6/8/10 '97 1.00


